6 || OUTLINES AND DIMENSIONS

MXZ-2F33VF MXZ-2F42VF MXZ-2F53VF MXZ-2F53VFH
MXZ-2F33VF2 MXZ-2F42VF2 MXZ-2F53VF2 MXZ-2F53VFH2
MXZ-2F33VF3 MXZ-2F42VF3 MXZ-2F53VF3 MXZ-2F53VFH3 Unit: mm

1.Installation space

the Front and bath

More than 500mm if
sides are open.

(pen as a rule

400 Drain hole ¢42 (In case of Base heater madels ¢33
& Air in
< —nf =
-
< J
Air inc> [ i3
w| ®
8 | o2 (pen as a rule Nore than 100nm
lW i More than 500mm if Nore than 200mm if
r the back, both sides there are obstacles
J} 40 and top are open. to both sides
Air out
22.3 2-10x21 Qval hole 18 085
I d 1
2 = -7 ——- - Liouid pire ¢ ¢B. 35(flared) 1/4
3 —=. o — ) Bospine : g 52eFIared) /g } B unit connection
g =) SR -+ —f- - Liouid nise ¢ #5 35(Flared) 1/4
B H—2 @ +xte-——§-—1- Gas plpe & g% 52(flared) /8 3 Awit comection
| |
af 170.4
69

OBH790E “




MXZ-3F54VF MXZ-3F68VF
MXZ-3F54VF2 MXZ-3F68VF2

MXZ-3F54VF3 MXZ-3F68VF3 Unit: mm
169 500 171
65.4 207.5 314 ~
= Biver =
p—— =
© EE ! ] o |8
o ! ofZ
A ) 3= B
T wmE M
Air Inlet > mj @
[ | ] ~
3-¢33 Drain hole E
4-10%21 Oval Hole
(Foundation Bolt M8)
Handle 840 30
200 258 330 12.5
1 [ ry
Cma’g\g b . | Cannecting
I il 3 66
it :
g Ly o
= 2
F it I ~N
\ L0 La
d. i ey
~ ..
9 H HH‘ H\ H \HHHHHHHH} | E:Js}w' B GAS $532(3/8IFLARE
o\g" : ) o s Ut A
2341
1.Installation space g 2.Service space ©
—_
£ o
Note : Leave front and both sides s El £
: ) o 100 or more | O
free of obstruction. o o| E
3 3| &
/ A 8
— ©
< 100 or more % ]
; Service space
) 350 or more 350 or more
o
IS
—
o
Note : Leave front and overhead 8
free of obstruction. p N

A
100 or more

4350 or more

Note : Leave rear, overhead and
both sides free of obstruction.

OBH790E

| 500 or more
T

49



MXZ-4F72VF
MXZ-4F72VF2

MXZ-4F80VF2

MXZ-4F72VF3 MXZ-4F80VF3 Unit: mm
169 500 171
65.4 207.5 314
‘ ™
ﬁ\'t\ O:{:l ‘l:
1 P $ m
4 1E N el
O o=
=) ) gk &
ar et /| —— P le
3-¢33 Drain Hole B b &
4-10X21 Oval Hole
(Foundation Balt M8)
840 30
"M'-‘k 200 258 330 125
10
o - , R —
\ g 66
N
$ I [ Gas - unit ©
of n iH\Hn m J " 10 Jumi ¢ }a?s BLonAE
9| W it —LIO
~N f Unit B
g L i o> _
J S 0 o 1 — i, AT
3 —_—
3.1
1.Installation space g 2.Service space o
—
- gl o
Note : Leave front and both sides & 100 or more .| ©
free of obstruction. o o| €
= o
e} S| o
z Al 8
— o
<« 100 or more % %2
4 Service space
o 350 or more 350 or more
o
S
—
o
Note : Leave front and overhead =
free of obstruction. . N

Note : Leave rear, overhead and
both sides free of obstruction.

i
100 or more. 350 or more

| 500 or more 3
I

OBH790E %0



MXZ-4F83VF

Unit: mm

175 600 175
714 2464, GAirin
514 2-U Shaped Notched Hole
10 86.5 93.3116.5 (Foundation Bolt M10)
o el
o Qe ™ , ¥
)
of z
| ol=
Air in > S Jalls
Q
o =]
6-933 Drain Hole "
=]
1o n b
e & Air out —uij m

2975

Py

950

2-12X36 Oval Hole
(Foundation Bolt M10)

25 330 15

407

Handle
70

Airin
.-l oo } Unit ©
LSS } unit ¢
50 punt e

185 ZLI0_#6.35(1/4)FLARE
"“}U"" A= GAS' 01270V ZFLARE

796

LI0_96.35(1/4"FLARE
GAS $9.52(3/8")FLARE

NI

14

1.FREE SPACE

OBH790E

500 ar more

100 or more

7

200 or mare

A

7100 or _more

ﬁ” -
350 or _more

500 or more

51

2.SERVICE SPACE

| 100 or _more

7,

500 or mare

N|

100 or more A
T

SERVICE SPACE
350 or more

350 or mare




MXZ-5F102VF

Unit: mm
175 600 175
714 2464, QAirin
514
2-U Shaped Notched Hole
10 865 93.3116.5 ~~ (Foundation Bolt M10)
Yoo 2 o
~N| = 1
[ T =
; &l
bl o|%
Airine L 5125
]
e |®
6-933 Drain Hole u IEN F
2l 10 QAirout & Lo &
2-12x36 Oval Hale
(Foundation Bolt M10)
950 25, 330 15
5 - < r r r r
Hondle LT Handle Handle
& ™ E % Airin
: CC i 0 o} e
g 110
n : C]Cﬂ (S Gasf NTO| | g $6.35(1/4'FLARE
g A Iz L\ 7 ¢ [ GAS SS2/BIFLARE
g : BCEI 5 L0 1 ynir B
a CICEY~ L0 L T A- LIQ_ 06.35(1/4)FLARE
D o GAS, GAS #12.7(1/2"FLARE
o h_
iy
2 70
i _l_ 361
34
1.FREE SPACE 2.SERVICE SPACE
[ [ o
5 5 2
€ € @ 5| €
5] 100 or more lS] 'g ol 5
o
8 S 5] / A =1
n ~N n
. : =
T3}
100 _ar_more 4
T
@ o - ¢ SERVICE SPACE
” 350 or mare 350 or_more
100 _or _more, 350 or more
52

OBH790E



MXZ-6F122VF

GAirin
175 600 175
71 250 80,97 . 116 2-U Shaped Notched Hole
(Foundation Bolt M10)
51
10
~|ol © 8 ©|
©F| -
——t—t—t—> y
Z | L~
3 T I off ~
Airin & |I S5E 3
! 2l 8
141 i
GArout o L 5
2-12x36 Oval Hole
(Foundation Bolt M10)
950 25

330

Unit: mm

15

Handle

468

134

‘ AR,
|| 20 e | TR RS
B Wl = | b

Handle

1048

Handle

70

Gas pipe : ©9.52(flared)3/8

p
Liquid pipe : @6.35(flared)1/4

Gas pipe : ©9.52(flared)3/8

Gas pipe : ©9.52(flared)3/8
Liquid pipe : @6.35(flared)1/4

Gas pipe : ©9.52(flared)3/8

Liquid pipe : @6.35(flared)1/4
—- Gas pipe : @12.7(flared)1/2

Air Intake

1.FREE SPACE

L
2 o
5 £ g
o 100 or more 5] £
3 =) 5
o
N o
o
/ 0
<« A o 2 L |l
7 77777
100 or more 350 or more
2.SERVICE SPACE
o
o
[
El &
S S
gl o
~ o
o
/ [Ye)
100 or more
SERVICE SPACE
350 or more 350 or more

OBH790E

53

Liquid pipe : @6.35(flared)1/4 \ F
HHE— Gas pipe : ©9.52(flared)3/8
4R — Liquid pipe : ©@6.35(flared)1/4

Liquid pipe : @6.35(flared)1/4 \ C

unit
connection
unit
connection
Dunit
connection
unit
connection
unit
connection

Aunit
connection



MXZ-2F53VFHZ

Unit: mm
175 600 175
714 2464 g
514 Air i 2-U Shaped Notched Hole
10 1| 865 93.3116. (Foundation Bolt M10)
o O
9 Qe ™ , ¥
L) h 01 ~
o 22 22 S =
& | QE o
Side Air ing> ) N BT 3
Fid =
o |2
6-933 Drain Hole l
K Mg T +
10 g Air out o S0 W

2-12X36 Oval Hole
(Foundation Bolt M10)

950 25 ... 33 .15
e o 1:&}:2
=6 gl | o
=ch i ¥
Y D i‘&l!HH\U\“h}iiiiH‘”‘!HEHHH!!H!WI f 70
=~ i n
G ““jlw ‘ | N, L0 .
= /e Ll i e e
- ‘ :

14,
W
-

1.FREE SPACE 2.SERVICE SPACE
9 w
w gl ¥
= w 5]
g 5 5| €
- € w c
S 100 or more 5 g 8 ;
o a 4 o
8 y =
, ~N o 4
=] 100 or more %5
T
. 4 % 2 > . BS'ZERWCE SPACE
7100 _or more 350 or more or_more of_more

OBH790E 4




MXZ-4F83VFHZ

Handle

298

134,

GAirin
175 600 175
2-U Shaped Notched Hol
gl 250,89 97,1 (Foundgﬂoen Bcgt M1e0) e
10
999, ] L1 °
. e T =
P I I ol %
Airine> T ! BN S
el 8
v“ T *
G Airout n &» "
_12x36_Oval Hole
oundatrion Bol
950 25 330 15
h Handle
il il .
L il )
A 3 70

- E:gs}umt D
— E0g bunit ¢
— H0s bunit 8
LA Junit A

“\Air_Intake

1.FREE SPACE

500 or mor

OBH790E

[}
2
o
€
100 or more 5
o
S
~N
/L
v
o
7
100 ar _mor! | 350 or _more

2.5ERVICE SPACE

500 or more

55

/,

100 or more
500 or mare

100 _or _more N

%)ﬁ

350 or more

SERVICE SPACE
350 or _more

Unit: mm

LIQ_#6.35(1/4"FLARE
GAS #9.52(3/8"FLARE

LIQ_#6.35(1/4FLARE
GAS #12.7(1/2")FLARE



